SUMPOIRIESNIVTOT S A
—MALEEAY AT TR EHEERE
RRETREXAMET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

SuMPO EPD
F14TNBEES (EPD)
Z5xES ¢ JR-AI-25203E

SuMPO

EPD

JJJJJ

VERIFIED

FUJHHILM

Value from Innovation

BEIXOANL EIRX A/R-I3VBFLE"
FUJIFILM Business Innovation Corp.

A3 BhS—1EEH (BEH)

Remanufactured Product

A3 Color Multifunction Printer

ApeosPort-VI C3371 RC (for JP)

Jl

Apeos. Apeos 0. ApeosPro. ApeosPort . B&U ApeosPrint (&, ELIMILAEIRZAA INR—S 3 RR S OB HREIEFAEIZETT,
Xerox. Xerox OJ. BLUFuji Xerox 0T KECOVI A OEIREIEE(EEIETT,

HEHNL ERES JR-AI-25203E
P EFAPCRES  pPA-590000-Al-08
PCR#% [CIE N PALs: 21
HE X SRR NEGS! 2026518238
5387 O] eh R Bt RIEEEE 2025412828
OREMEERE QEE Q@B OfEM - REEA VAT LERAEA
®FEE- Y1 RAES 2025-FB-EL-058

HBEEE#hEAR 2030412818

RNmOBR, FELR-FET PCRLEI-DETE

itk : ApeosPort-VI C3371 RC

FEMARR N5-EEH EPAR)

ENRIEEEE : £/%70 35ppm (A4 LEF)
#15- 35ppm (A4 LEF)

BAABEYIX 1 SRA3(320x450 mm).

12x18"(305%x457 mm). A3
FUYR/AE-/AF vV /FAX
T FN R BE/ADF(R TS B Bh5tiA )

RLWEhtE %

E B 2023 94 1H
ZER HiE Bx

(FTE —RAEEIEAY AT I IR B HEERE)
B HT

[SIR=1=]

B=EHIRAE
SMERIREES

ISO14025(CE S 1e AR E B R U7 -5 DML LIAREE

O ER WA
YA LRAEZ I B EAORIIDB A, VAT LRIETLEEED
ZRTEE

ST AMIVLESRZA ) R—> 3 ket

EEMAX AR EHFSUV6THIE
https://www.fujifilm.com/fb/

- JR-AI-25203E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO EPD SUMPOIREININTOI S L

SuMPO
E P D —— —RALEEAY AT H IR EHEE
S pEFY 14T NBEEE (EPD) T REXAHE-14-8
MEHLELED KANDA SQUARE GATE
FixEs . JR-AI-25203E https://ecoleaf-label jp
F1IVA IV EFMER
FREEER | NERE | ARE E’?n'ﬁffﬁ BB
28
S[REE - &t kg-CO2eq 2.48E+02 2.86E+01 3.57E+01 1.36E+02 1.52E+02
AV BHIE kg-CFC-11eq |  4.15E-05 4.51E-08 2.62E-08 4.49E-06 3.32E-08
EREL kg-PO.3-eq 1.18E-02 1.18E-03 1.87E-04 6.22E-03 1.83E-04
iz (d kg-SO:zeq 9.43E-01 1.81E-01 6.08E-02 6.20E-01 1.65E-01
HALRZAFIIVE kg-CzHaeq 7.78E-03 6.29E-05 4.11E-04 1.22E-03 1.29E-03
SEEYERES - i kg-Sbeq 4.18E-01 9.91E-05 1.35E-05 4.95E-02 3.20E-05
F1ITHA1IIA1IRY R iR BEIER
—RERDERICET 31E1Z
FREEER | NERE | ARE E’?n'ﬁffﬁ BB
=X
BEARE—XRER - IRIF- (RPRy) M) 7.22E+02 2.27E+02 9.72E+00 6.72E+02 7.21E+01
BEARE—RERE - IRLF-28HE (RPRy) M) 1.56E+01 3.83E-03 2.52E+02 6.76E+02 136E-02 | #
FEFLERE—RETR - TRILF— (NRPRp) M) 4.39E+03 9.46E+02 4.17E+02 3.23E+03 8.40E+02
BT REE - TRLE-2BHE (NRPRy) M) 1.07E+03 2.89E-01 2.83E+00 2.90E+02 1.76E-01
RKDHEE m3 2.90E+00 2.47E-02 2.65E+01 7.14E+01 1.29E-02
EERRICATZEMER
-BARZEEAEIEELTEELXLE,
EEEEPAHR)DIZEVFUATEELTNET,
‘B0 EFERABESERMTT,
fER - MBS CH I ZENRI AR AR EEENE A,
FEABOENE, IRNF-AY-T0I 50 Ver3 284 (A->THELETECERTICEE LELE,
BEENRIM AL, 182,40014TF
1/4x 32 (¥37/8) x 19 (1) x 5 (B) x4 GB) x 12 (7 B) x 5 (££) = 182,400
AR EFRFEROEREAESNSEURLBEEZBARALTEY. EMRAZEERRICSVTHBERROBTEERLTEELTVET,

Z D DIRE R EHIR
CIRNF-R5-FO0Y5LVer3.2 EE,

MRBSUMECET 2R S FEVEICREIZER

E-9E (ERFHS) Hifp IHH CAS No. ENE
i 62 kg - -
sus 1.1 kg - - -
FIVIZUL 0.83 kg
ZOthER 9.9 kg ERALEZRT-90EXS
I5AFvY 43 kg REAIE, LCIT-FN-2ZIDEA Ver.3.4, SUMPOREESAINTOIS LB KT -5
T4 0.24 kg Ver1.162EAL TV,
A5 1.9 kg
A 103 kg e
F& R REMR 43 kg -
ZHER G 6.3 kg
kol 5.6 kg

@7 -FEEN %L, PCRELUVEE - EERRESRLESIN,
OLLEIIOVWTR. BEE - EERBLAEINLZGEHLLLSELLARDONEEA,
(BBB4EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

